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1. �����	
�� A = 







43
21

, B = 







65
43

, C = 







87
65

���������� |ABC|� 1

������� ������������ !�"#�$%&�����'��	����'�()*��+��	���'
,��-���	����'�()*��+� 
��./����� |ABC|� 1 = ABC

1 = CBA
1
⋅⋅

= )4240)(2018)(64(
1

−−−
= )2)(2)(2(

1
−−−

= 8
1− �
���
 �.

2. �����	
�� A *"& B � !��(�')�1�
	2 ��/3(�� !��(�')�1�45��� 6�� |A|  =  3, |B|  =  1  ���������� |AB|� 1

������� ��./����� |AB|� 1 = BA
1
⋅

= )1)(3(
1

= 3
1 �
���
 �.

3. �������+#8* ' x, y, z  ���'&<<=(��'+��3 ���
x + 2y � z = 0 - - - - - - - - - -�
2x + y + z   =   3 - - - - - - - - - -�
x + y + 2z   =   5 - - - - - - - - - -�

������� 
���/���B5�������&*=	�8)C���'�����+�<���'&<<=(��'
��	5 2 8)C� 
� 8)C�*'� 8)C����D�,�%)+ ((.3  *+��F������8��)
���=(��' � + � �&3	� 

3x + 3y =   3   �&3	�8�� x + y = 1 - - - - - - - - - -�
*��=(��' � "�
�=(��' � �&3	�8��

1 + 2z =   5 
 2z =   4 
 �D'�&I&�#�� z = 2

*����� z = 2 "�
�=(��' � *"&=(��' � �&3	�'&<<=(��'
�(��.� 
x + 2y � 2 = 0 - - - - - - - - - -�



2x + y + 2 =   3     - - - - - - - - - -�
�5%=(��' � 	�8� 2  �&3	� 

2x + 4y � 4 = 0 - - - - - - - - - -�
���=(��' � �� �&3	�8��

3y � 6 = � 3
3y =   � 3 + 6 = 3 �#/��.� y = 1 *"& x = 0

� 8)C���/=�� �	���'
,��-�����'�(�'� ((.5)  �	���'�����'&<<=(��'��/�����	
����5�
�'5 
�(�')�1����=#( '&=)�C)K (A)  �(�')�1����+#8* ' (X)  *"&�(�')�1�����������/ (B)3	�	#����

1 2 1
2 1 1
1 1 2

 −
 
 
  

x
y
z

 
 
 
  

=
0
3
5

 
 
 
  

�&��M�8��=(��'�����5�
�'5 AX  =  B 

 ��	����'�()*��+�����(�')�1�=#( '&=)�C)K�	���'�'&�����*N��+�'� (cofactor) +�(*68��/=�( 

det(A) =   (1) 11
12 −
� (1) 12

11 −
+ (2) 12

21

= (1)(2 + 1) � (1)(1 + 2) + (2)(1 � 4) 
 = 3 � 3 � 6

= � 6
��	����'�()*��+�����(�')�1���/��)	�����'*����/�"#���/ i ����(�')�1�=#( '&=)�C)K	�8��"#���� 
�(�')�1��������/ (det(Ai)) 

 det(A1) = 	����'�()*��+�����(�')�1���/��)	�����'*����/�"#���/ 1 ����(�')�1� 
=#( '&=)�C)K	�8��"#�����(�')�1��������/ 

=
215
113
120 −

= � (3) 21
12 −

+ (5) 11
12 −

= � (3)(4 + 1) + (5)(2 + 1) 
 = � (3)(5) + (5)(3)   =  0 



det(A2) = 	����'�()*��+�����(�')�1���/��)	�����'*����/�"#���/ 2 ����(�')�1� 
=#( '&=)�C)K	�8��"#�����(�')�1��������/ 

=
251
132
101 −

= (3) 21
11 −
� (5) 12

11 −

= (3)(2 + 1) � (5)(1 + 2) 
 = (3)(3) � (5)(3)   =  �6

det(A3) = 	����'�()*��+�����(�')�1���/��)	�����'*����/�"#���/ 3 ����(�')�1� 
=#( '&=)�C)K	�8��"#�����(�')�1��������/ 

=
511
312
021

= � (3) 11
21

+ (5) 12
21

= (�3)(1 � 2) + (5)(1 � 4) 
 = (�3)(�1) + (5)(�3)   =  �12 
 �D'�&I&�#���&3	�8��

x = )Adet(
)1Adet( = 6

0
− = 0

y = )Adet(
)2Adet( = 6

6
−
− = 1

z = )Adet(
)3Adet( = 6

12
−
− = 2

�&��M�3	�8���#�� 2 8)C�3	����+�<��(.���#� �
���
 �.



4. ���������� 

3214
2143
1432
4321

������� ����� XY��������� !��Z$-�<���[/����	����'�()*��+���/�"��88�� \
��(�')�1��#+F'#=���	 n x n 
 
	2 6��=(�,)�
��(�')�1��#����(.���#��F�*68 (�'.��"#�) *"�8 	����'�()*��+�����(�')�1��#��

�&�����#<45����=(�^ (<�D)=5�������Z$-�<����=�(�'6������3	������#�=.�D�,�%)+�,)��=��
� 
'&	#<�F	(4[�$�) �
���
 �.

5. �����	
�� A � !��(�')�1����"#�$%�, B � !��(�')�1��#+F'#=, C � !��(�')�1�=�(��"�/�(, D � !��(�')�1�45��� 
*"& A, B, C, D  (����	 n x n ���
	65�+��� (	5+#8�".����������)
������� +#8�".�� �. B)	 �8�(�')�*"�8�(�')�1����"#�$%�(�	����'�()*��+������#< 1 �=(� 

+#8�".�� �. B)	 �(�')�1��#+F'#=3(����� !�+���(�	����'�()*��+������#< 0
+#8�".�� �. 65�+���,#	�����5�*"�8 
+#8�".�� �. �(�')�1�45���(�	����'�()*��+������#<45����=(� (*=	�8�������3	�) �
���
 �.

6. ��*��'&<<=(��' 
w + x + y + z = 12 - - - - - - - - - -�
2w � x + y � z = � 4 - - - - - - - - - -�
w + 2x � y + z = 6 - - - - - - - - - -�
w + x � 2y + z   =   0 - - - - - - - - - -�
������� 
���/����&
,��-�����'�(�'�1[/������8�� ���'&<<=(��'��/�����	
��=�(�'6�����
����5�
�'5 

=(��'����(�')�1�3	�	#����
1 1 1 1
2 1 1 1
1 2 1 1
1 1 2 1

 
 − −
 

− 
 − 

w
x
y
z

 
 
 
 
 
 

=

12
4

6
0

 
 −
 
 
 
 

��'�����+���2 =�(�'6���3	�
��������	��8�#��#<��� 3 8)C���/ 2 �#/��.�



det(A) =   (1)
121
112
111

−
−

−−
� (1)

121
111
112

−
−

−
+ (1)

111
121
112 −−

 

� (1)
211
121
112

−
−

−

= (1)(1) � (1)(3)  + (1)(3) � (1)(-8)  =   9 

 det(A1) =

1210
1126
1114
11112

−
−

−−−

= (1)
116
114
1112

−
−− + (2)

126
114
1112
−−−

+ (1)
126
114
1112

−
−−

= (1)(�4)  +  (2)(8)  +  (1)(�12)  =  � 4 + 16 � 12   =   0 

 det(A2) =

1201
1161
1142
11121

−
−

−−

= (�1)
116
114
1112

−
−− � (�2)

161
142
1121
−−

+ (1)
161
142
1121

−
−

= (�1)(�4) + (2)(�18) + (1)(50)    =    4 � 36 + 50   =   18 



det(A3) =

1011
1621
1412
11211
−−−

= (�1)
162
141
1121
−−− + (1)

161
142
1121
−−

+ (1)
621
412
1211
−−

= (�1)(�8)  +  (1)(�18)  +  (1)(46)     =   8 � 18 + 46  =  36 

 det(A4) =

0211
6121
4112
12111

−
−

−−

= (�1)
612
411
1211

−
−− + (1)

611
412
1211

−
−

� (�2)
621
412
1211
−−

= (�1)(�12)  +  (1)(�50)  +  (2)(46)     =   12 � 50 + 92   =   54 
 �D'�&I&�#�� ���+�<���'&<<=(��' �.� 

w = )Adet(
)1Adet( = 9

0 = 0,  x   =   )Adet(
)2Adet( = 9

18 = 2

y = )Adet(
)3Adet( = 9

36 = 4,  z   =   )Adet(
)4Adet( = 9

54 = 6 �
���
 �.



7. �����	
�� A =
















−
−

−

101
110
011

, B =
















)A(33C)A(32C)A(31C
)A(23C)A(22C)A(21C
)A(13C)A(12C)A(11C

���������� B� 1

������� ��� B� 1 = )Bdet(
)B(adj

��./����� B =
















111
111
111

*"&�&3	� det(B)  =  0 

 �#/��.� B 3(�(��)��8�'�= �
���
 �.

8. ���
	65�+����(./� A, B � !��(�')�1���/(�()+) m x n  *"& m ≠ n (	5���(5"*"&+#8�".����������)
������� ��� 1 65�+�����./������ !��Z$-�<� 
�+#8�".����� 2 *"&��� 3 B)	��./�����8��3(�
,��(�')�1��#+F'#=

3(�=�(�'6��	����'�()*��+�3	� =���'#<��� 4  �MB)	����,���#���./������)��(����(�')�1�B5�B#��.� 
Transpose of Cofactor 3(�
,� Transpose of minor        =�8���� 5 �M3(�65�+�����./�����8���(�')�1���/ 
�����	
��3(�
,��(�')�1��#+F'#=�[�3(�=�(�'6�����	����'�()*��+�3	� �
���
 �.

9. ���
	65�+����(./� A, B � !��(�')�1����	 n x n (	5+#8�".����������)
������� ��� �. B)	*����� 

��� �. + ��� �. ���� !��')�h��
+���./��3�<������������#��
��� �. � !��')�+"�	�D'�&� !��Z$-�<� �
���
 �.

10. ���
	3(�
,�=(<#+)����(�')�1� (	5+#8�".����������)
������� ��� �. 3(�
,�=(<#+)����(�')�1��	��#/83  (*+�h��
+���./��3�<����������(�=(<#+)���3	�)

��� �., �. *"&��� �. � !�=(<#+)����(�')�1�1[/��"����#<'&<<����8��')�*"&
,�3	��#/83 �
���
 �.



11. ��*��'&<<=(��'+��3 ��� A + B + C � D = 11     - - - - - - - - - -�
2A + B � 3C � D = � 8 - - - - - - - - - -�
3A � B + C + D = 3 - - - - - - - - - -�
4A + 3B � C + D = � 10   - - - - - - - - - -�

������� � "�/��'&<<=(��'��/�����	
��� !�=(��'�(�')�1�	#����
1 1 1 1
2 1 3 1
3 1 1 1
4 3 1 1

− 
 − −
 

− 
 − 

A
B
C
D

 
 
 
 
 
 

=

11
8

3
10

 
 −
 
 
 − 

det(P) =   

1 1 1 1
2 1 3 1
3 1 1 1
4 3 1 1

−
− −

−
−

= � 72 

 ����-�����'�(�'��&3	�8��

A =

11 1 1 1
8 1 3 1

3 1 1 1
10 3 1 1

72

−
− − −

−
− −

− = 1,  B  =  

1 11 1 1
2 8 3 1
3 3 1 1
4 10 1 1

72

−
− − −

− −
− = � 1

C =

1 1 11 1
2 1 8 1
3 1 3 1
4 3 10 1

72

−
− −

−
−

− = � 5,  D  =  

1 1 1 11
2 1 3 8
3 1 1 3
4 3 1 10

72

− −
−

− −
− = � 6 �
���
 �.

12. �����	
�� A =
















−−−
−−

−

12xx2

2xx21
1x22x

������� x ��/� !�����8��+M(��/���
�� A 3(�(��)��8�'�=

������� ��./����� A � !��(�')�1���/(�()+) 3 x 3  I&�#���(./� det(A)  =  0  �&���
��3(�(��)��8�'�=



�#/��.�
12xx2

2xx21
1x22x

−−−
−−

−
= 0

02xx2)2xx2(

2xx21
1x22x

−−−−
−−

−
= 0

� (2x � x2) 2xx2
1x2
−

−
� (�2x � x2) 2x1

12x
−−

= 0

� (2x � x2)(2x3 � 2x) + (2x + x2)(� x4 + 1)   =   0 
 � (4x4 � 2x5 � 4x2 + 2x3) + (� 2x5 � x6 + 2x + x2) = 0

� x6 � 4x4 + 2x3 � 3x2 + 2x    =   0 
 x(� x5 � 4x3 + 2x2 � 3x + 2)   =   0 
 	#��#�� x = 0 ���
���(�')�1� A 3(�(��)��8�'�= +��3 D)��'%� � x5 � 4x3 + 2x2 � 3x + 2  =  0 
 ��� � 1 �5%+"�	=(��' �&3	�8�� x5 + 4x3 � 2x2 + 3x � 2 = 0

	#��#�� (1 + x2)(x3 + 3x � 2)   =   0  �&��M�3	�,#	8��3(�(���� x ��/� !�����8��+M(*"�8���
��=(��' 
� !��')� �D'�&I&�#�����+�<���=(��'����[�(��D�������8��	��8 �.� 0
���������&3	�8�� 0 � !�����8��+M(��/���
���(�')�1���/�����	
��3(�(��)��8�'�= �
���
 �.

13. 6�� det(CTAB� 1) = � 2,  det(A)  =  � 1,  det(B)  =  3  ���������� det(C) 
 ������� ��� det(CTAB� 1) = � 2

�&3	� det(CT) ⋅ det(A) ⋅ det(B� 1) = � 2
det(C) ⋅ (� 1) ⋅ ( 3

1 ) = � 2

�D'�&I&�#�� det(C) =   
)3
1)(1(
2

−
− = (2)(3)  =   6 �
���
 �.



14. 6�� det(A)  =  2
1− , det(B)  =  � 1 *"�8 det(AB)� 1 �&(��������
	 

������� ��./����� det(AB)� 1 = )ABdet(
1

= )Bdet()Adet(
1
⋅

=
)1()2

1(
1
−⋅−

= 2 �
���
 �.

15. ��*��'&<<=(��' 2x + y � z = 1
x � 2y + z =   2

1−

x + y � 2z =   2
1−

������� � "�/��'&<<=(��'
����5�
�'5 =(��'�(�')�1�	#����

2 1 1
1 2 1
1 1 2

 −
 − 
 − 

x
y
z

 
 
 
  

=

1
1
2
1
2

 
 
 −
 
−  

�	���'
,��-�����'�(�'� �'��&+�����	����'�()*��+�����(�')�1�	#�+��3 ���

det(A)   =   
211
121
112

−
−

−
= 6,   det(A1) =

212
1

122
1

111

−−

−−
−

= 3

det(A2) =
22

11
12

11
112

−−

−
−

= 6,   det(A3) =

2
111
2
121
112

−

−− = 6

�D'�&I&�#�� x = 2
1 , y = 1,  z = 1 �
���
 �.

16. 6�� AT = aij mxn   *"�8 A2 �.����
	+��3 ���

������� ��./����� AT = aij mxn   �&3	�8�� A = a ji mxn  

�D'�&I&�#�� A2 = 2a ji mxn
 
  �
���
 �.



17. �����	
�� A, B, C  � !��(�')�1����	 n x n ���
	+��3 ���B)	 (	5+#8�".����������)
������� D)��'%�+#8�".�� �.

�&��M�8��6�� A = BC  �'��&3	��#���8�� det(A)  =  det(B) ⋅ det(C)  *+�3(����� !�8��6�� 
det(A)  =  det(B) ⋅ det(C)  *"�8 A = BC  B5�������&D)=5���	�8���'��+#8���������	#����


�� A = 






 −
42
31

, B = 







−− 11
20

, C = 







−− 13
21

�&��M�8��

det(A)  =  det(B) ⋅ det(C)  *+� BC  =  







−
−−
12
26

≠ A �D'�&I&�#��+#8�".�� �. B)	

��� �., �. *"&��� �. � !��Z$-�<���'�5%�(�')�1�	�8�=��"�'� ��'�5%�(�')�1�	�8��(�')�1� *"& 
��'<8��(�')�1� +�("��	#< �
���
 �.

18. 6�� A� 1 =












−

−

3
2

3
1
3
1

3
2

���� det(A) 

 ������� ���&���3	�8���'�(��Z$-�<�=���#Y���/�8�#<	����'�()*��+�����)��8�'�=����(�')�1��.� 
det(A� 1) = )Adet(

1

�D'�&I&�#���[�3	�8�� det(A)  =  
)1Adet(

1
−

��� A� 1 ��/����������	
�� =�(�'6�� det( A� 1) 3	�	#����
det(A� 1) = ( 3

2− )( 3
2 ) � ( 3

1− )( 3
1 )

= 9
4− + 9
1 = 3

1−

�#/��.� det(A) =   
3
1
1
−

= � 3 �
���
 �.

19. ���
	65�+������/�8�#<�Z$-����	����'�()*��+� �(./� A � !��(�')�1��#+F'#=
	2 
������� �����������+�����4#��8�(����
�*"&�8�(���
��Z$-����	����'�()*��+� 1[/��F%�&D<8���F���� 

65�+����#���(	 =���'#<8)C�D)=5����#���(	=�(�'6������3	������#�=.�D�,�%)+�,)��=��'&	#<
�F	(4[�$� �
���
 �.



20. �����	
�� A =
















−−−
−

212
121
111

���������� |A� 1|

������� ����� XY��������
,��Z$-����	����'�()*��+��"���2 �#<��� 18  �#/��.��&3	�8��
det(A� 1) = )Adet(

1

���������&3	�8�� det(A)   =   
212
121
111
−−−

−
=

312
321
011
−−−

−

=
303
321
011
−−−

−
=

333
331
001
−−−

= (3)
111
331
001
−−− = 0 �
���
 �.


